


17.5 Single Slit Diffraction



Suppose you send laser light through a single slit.  What do you see?  If the slit is small enough (not 
too much larger than the wavelength) then you see a diffraction pattern.
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What is going on?  What is interfering with what?  Different parts of the 
single slit interfere with each other.  Simplest case — top half of the slit 
interferes with bottom half.
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Generalize:

Single Slit Minima:




















































Lastly look at combined effects of a and d
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Demonstration Mathematica Notebook
Examples ch17 finite slits

Similar ideas hold for circles not just rectangular
slits Get circular diffraction pattern The
angle to the first minimum is 01 12222

D diameter

-

Tiny bright spots:

Broad minima:

 
1 7.6 Circular Aperture Diffraction


